.     Expanding Quadratics B    .
    (2m + 6)(3m – 2)

An equation which has a squared in it is a quadratic equation

Examples

1)   (2m + 5)(m + 2) =

2)   x(3x + 7) =

3)   5x(5x – 4) =

4)   (4h – 5)(3h + 2) =

5)   (4g – 3)(3g – 5) = 

6)   (3x + y)(x + y) =

7)   (4 + x)(2 + 3x) =

8)   (5x – 4)(8 + 2x) =

9)   4x + 2x(x + 5) =

10)   8 + 5x(2x – 7) = 

11)   (6 – 5x)(x – 3) = 

12)   (5 – 2x)(7 – 4x) = 

.     Perfect Squares    .

Write out both brackets then expand
.     Difference Between two Squares    .

4)   (h – 7)(h + 7) =

5)   (4m + 3)(4m – 3) =

6)   (3x – 2y)(3x + 2y) =
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Mixed Questions











Area = 





p











p + 6





- 6




















Examples


1)   (m + 5)(m – 5) =








2)   (w + 9)(w – 9) =








3)   (x – 2)(x + 2) =





Area = 
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m





m + 4





+ 4





Examples


1) (m + 5)2 =  				2) (2t + 9)2 =  











3) (5 – 2y)2 =  				4) (2x – 7y)2 =  

















Area = 





3m





2m + 6





- 2
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